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Preview

 BPM callibrations are now fixed.
- Using Dave’s new numbers for both fall and spring data.

* Raster had correct sigb but a really samll W dependence.
- Garth suggested to leave it for now.

* Looking at out of plane offset.
- Using methond from Tanja’s thesis (Fig. 3.11)




Kaon-LT Heep Coin Data

+ 3.8GeV
- HMS P =2.03 GeV
- SHMS P =2.58 GeV
* 49 GeV
- HMS P =3.12 GeV
- SHMS P = 2.58 GeV
*+ 6.2GeV
- HMS P =3.57 GeV
- SHMS P = 3.48 GeV
* 8.2GeV
- HMS P =4.67 GeV
- SHMS P =4.37 GeV
+ 10.6 GeV
- HMS P =6.59 GeV
- SHMS P =4.84 GeV




ar (3.8 GeV)

SHMS xptar

HMS xptar

——— SIMC, INT =947

——— DATA, INT =894
—— SIMC, MEAN = -0.00044 —— SIMC, Error = 0.00007
——— DATA, MEAN =-0.00136 ——— DATA, Error = 0.00012
—— SIMC, Error = 0.00006 —— SIMC, MEAN = 0.00072
——— DATA, Error = 0.00009

———— DATA, MEAN =-0.00172
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SHMS xptar HMS xptar

——— SIMC, INT = 1403

———— DATA, INT = 1318

—— SIMC, Error = 0.00005

———— DATA, MEAN =-0.00119 ———— DATA, Error = 0.00006

—— SIMC, Error = 0.00006 —— SIMC, MEAN = 0.00063

——— DATA, Error = 0.00006 —— DATA, MEAN =-0.00160
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Xptar (6.2 GeV)

SHMS xptar

——— SIMC, INT =319
——— DATA, INT =309
—— SIMC, MEAN =-0.00022
——— DATA, MEAN = -0.00054

E —— SIMC, Error = 0.00006

———— DATA, Error = 0.00008

E ——— SIMC, INT =319

———— DATA, INT =309

—— SIMC, Error = 0.00006

; ——— DATA, Error = 0.00008

—— SIMC, MEAN = 0.00031

———— DATA, MEAN 00101
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Xptar (8.2 GeV)

SHMS xptar HMS xptar

——— SIMC, INT =99
——— DATA, INT =98 DATA, INT = 98
SIMC, MEAN = -0.00064 SIMC, Error = 0.00006
DATA, MEAN = -0.00082 DATA, Error = 0.00012
SIMC, Error = 0.00006 SIMC, MEAN = 0.00071

DATA, Error = 0.00012 DATA, MEAN = -0.00025




Xptar (10.6 GeV)

SHMS xptar

DATA, INT = 62

SIMC, Error = 0.00004

DATA, Error = 0.00009

SIMC, MEAN = 0.00061

DATA, MEAN = -0.00217

-0.04

HMS xptar
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Out-of-Plane Offset

Out-of-Plane offset
dogog= +3.2 mrad

do,yeg= +1.1 mrad
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Summary

* The plot doesn’t have linear trend.
- Even after removing one setting (HMS in saturation)

* Can’t move to other offset without finalizing this
out-of-plane offset.

* Any suggestions are welcome.
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